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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Ihen mark the correct choice on your answer sheet.

1- - The book was -------—-- by a panel of experts, working in conjunction with the publisher.
1) revealed 2) compiled 3) intervened 4) attributed

2- In Canada, drug users belong to high-risk insurance -------—---,
1) entities 2) features 3) categories 4) structures

3-  The victim was able to give the police an ---------- description of her attacker.
1) accurate 2) ultimate 3) identical 4) equiﬁalﬂnt

4-  The government passed a law to promote the ------—--- of blacks into white South African
society.
1) integration 2) foundation 3) coordination 4) adaptation

S5-  Small businesses often have great difficulty in -—-——-—— credit from banks.
1) detecting 2) obtaining 3) pursuing 4) depositing

6- Feminists say that the book was written from a male ----—---- -
1) objective 2) inspection 3) perspective 4) presumption

7-  Violence is just one of the many problems ------——-- in city life.
1) explicit 2) empirical 3) available 4) inherent

8-  Legal requirements state that working hours must not ~—---—--- 42 hours a week.
1) assign 2) exceed 3) utilize 4) undertake

9-  The Highways Department is responsible for the construction and ---—---—- of bridges and
roads,
1) equipment 2) adjustment 3) manipulation 4) maintenance

10- Maxwell’s responsibilities --——---—---- yours, so you will be sharing some of the work.
1) overlap 2) affect 3) identify 4) coincide
PART B: Grammar
Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.
Since water is the basis of life, (11) ---------- the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) ---------- sources of flowing water are
rare. And since man’s inexorable necessity (13) ---------- large quantities of water at frequent
intervals, (14) «--------- comprehend that many creatures of the desert pass their entire lives (15) ----
------ a single drop.

11- 1) composes 2) composing 3) it composes 4) that composing

12- 1) which 2) that 3) there 4) where

13- 1)is to absorb 2) of absorbing 3) that is to absorb 4) is absorbing

14- 1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

15- 1) for 2) from 3) upon 4) without
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PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (I ), (2), (3), or
(4). Then mark it on your answer sheet.

Passage I:

Another consequence of considering source code as software design is the fact that a software design
is relatively easy to create, at least in the mechanical sense. Writing (i.e., designing) a typical
software module of 50 to 100 lines of code is usually only a couple of day's effort (getting it funy
debugged is another story, but more on that later). It is tempting to ask if there is any other
engineering discipline that can produce designs of such complexity as software in such a short time,
but first we have to figure out how to measure and compare complexity. Nevertheless, it is obvious
that software designs get very large rather quickly.

Given that software designs are relatively easy to turn out, and essentially free to build, an
unsurprising revelation is that software designs tend to be incredibly large and complex. This may
seem obvious but the magnitude of the problem is often ignored. School projects often end up being
several thousand lines of code. There are software products with 10,000 line designs that are given
away by their designers. We have long since passed the point where simple software is of much
interest. Typical commercial software products have designs that consist of hundreds of thousands of
lines. Many software designs run into the millions. Additionally, software designs are almost always

constantly evolving. While the current design may only be a few thousand lines of code, many times
that may actually have been written over the life of the product.

16- What does the paragraph preceding this passage most probably discuss?

1) What makes a software design easy to create

2) What makes simple software designs distinct from complex ones

3) The reason why source code is used in the development of softwares

4) An outcome originating from the same source as mentioned in paragraph 1
17- The word “that” in line 4 refers to -

1) software module

2) debugging a software

3) effort required to write a typical software

4) time taken to write a software of 50 to 100 lines of code
18- The author mentions school projects to

1) support the point in a previous sentence

2) show the nefficacy of school curriculums

3) prove that software designs tend to become complex

4) demonestrate the need for am early start in computer software design
19- The word “Nevertheless” in line 6 is closest in meaning to --- :

1) Still 2) Likewise 3) No matter 4) In as much as
20-  What does author imply about software products typically used in business companies?

1) They all enjoy the same level of complexity.

2) They have reached their apex of development.

3) They are far from being simple or easy to create.

4) They require a level of complexity not yet well understood.
21- The phrase “consist of” in line 13 is closest in meaning to -

1) comprise 2) lead to 3) submit to 4) necessitate

M)MQMUS)OM)‘WQ)UQEW‘S)b‘@Ri
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Passage II:

Artificial intelligence research follows two distinct, and to some extent competing,
methods, the symbolic (or “top-down™) approach, and the connectionist (or “bottom-
up”) approach. The top-down approach seeks to replicate intelligence by analyzing
cognition independent of the biological structure of the brain, in terms of the
processing of symbols—whence the symbolic label. The bottom-up approach, on the

other hand, involves creating artificial neural networks in imitation of the brain's
structure—whence the connectionist label.

To illustrate the difference between these approaches, consider the task of building a
system, equipped with an optical scanner, that recognizes the letters of the alphabet. A
bottom-up approach typically involves training an artificial neural network by
presenting letters to it one by one, gradually improving performance by “tuning” the
network. (Tuning adjusts the responsiveness of different neural pathways to different
stimuli.) In contrast, a top-down approach typically involves writing a computer
program that compares each letter with geometric descriptions. Simply put, neural

activities are the basis of the bottom-up approach, while symbolic descriptions are the
basis of the top-down approach.

What does the passage mainly discuss?
1) Findings of research in the field of artificial intelligence
2) Two different methods in artificial intelligence research
3) The best approach to solve the artificial intelligence enigma
4) Ways to use computer science to make artificial intelligence a practical issue
The word “replicate” in line 3 is closet in meaning to -—- .
1) reveal 2) pursue 3) synthesize 4) duplicate
Which one of the following best represents the relation of paragraph 2 to paragraph 1?
1) It introduces a new model based on an example cited.
2) It sheds more light on the distinction made in paragraph 1.
3) It adds to the amount of information presented but somehow alters the model offered.
4) It rejects the main point of paragraph 1, showing that the two approaches discussed reach the
same conclusion.
All of the following characterize the symbolic approach EXCEPT that it -----—-----—-,
1) has a cognitive orientation
2) 1s top-down and has a symbolic label
3) 1s based on the brain’s biological structure
4) analyzes cognition with respect to the processing of symbols
The word “put” in line 14 is closest in meaning to .
1) stated 2):designed 3) compared 4) summarized
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Passage I11:

Along with helping to integrate a firm's own value chain, transaction processing
systems can also serve to integrate an organization's overall supply chain. This
includes all of the various firms involved in designing, marketing, producing, and
delivering the goods and services—from raw materials to final delivery. Thus,
interorganizational information systems are essential to supply-chain management.
For example, purchasing an item at a Wal-Mart store generates more than a cash
register receipt; it also automatically sends a restocking order to the appropriate

supplier. Suppliers can also access a retailer's inventory database over the Web to
schedule efficient and timely deliveries.

viany wransaction processing systems support electronic commerce over the Internet.
Among these are systems for on-line shopping, banking, and securities trading. Other
systems deliver information, educational services, and entertainment on demand. Yet
other systems serve to support the search for products with desired attributes, price
discovery (for example, via an auction), and delivery of products in an electronic form
(software, music, movies, or greeting cards). A growing array of specialized services
and information-based products are offered by various organizations on the Web, as
an 1nfrastructure for electronic commerce is emerging on a global scale.

The passage mainly presents -

1) steps in a process 2) function descriptim_l |

3) comparison and contrast 4) examples from business transactions
The word “it” in line 7 refers to --------—------ . ‘ _

1) item 2) store 3) receipt 4) purchasing

According to paragraph 2, transaction processing systems support all of the following
EXCEPT

1) stock markets 2) on-line shopping | ‘
3) delivery of security systems to customers 4) delivery of such products as movies and music
Which of the following best represents the author’s attitude toward the subject of the
passage? ‘ _

1) Skeptical 2) Concerned 3) Favorable 4) Disparaging
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void Mystery(int n) {
if (n<=2) {
Mystery(n — 1);
print “** %
Mystery(n — 2):
pri‘lt ‘E’f**“;} Tn)=1+T-)+Y+T(n-F)+1 O
Mystery(n — 1); T(n) =0T - +fT(n-Yx) (¥
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void DFS(v)
{
v.Visited = trye;
v.Mystery = 0:
for (each w such that v - w {
if ('w. Visited) DFS(w):

{ v.Mystery = max(v.Mystery,1 + w.Mystery);

199 o0 (g yd 5 ) uS daddad b o 58l (o

for (each ve V)
v.Visited = false;
v.Mystery = 0;

}

for (each ve V)
if (! v.Visited) DFS(v);
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Insertion sort ¢\

function Sort(A[0—n-1],n)
if n>1 then
for k=1 to n—1do
if A[k-1]>Alk] then
Swap(A,k,k-1)

Bubble sort (v
Selection sort (v
Shell sort (f

end if
Sort(A,n-1)
end for
end if
end sort

fass oo adgi e plgs w ) gylaieaz > 1 (glp ) &b
function g(n)
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if n<2 then
return n Sy
end if Sn+6" (r
return S*g(n—1)—-6*g(n-2) 30 90

end g
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